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fnternational Islamic University Chittagong (IIUC)

Department of Electronic and Telecommunications Engineering' Final Examination
(lourse Cotle: BTE- 1103
'l'irne: 2 hours and 30 rninutes

Semester: Springr 20l8
Course Title: Electrical Circuit-I DC

l'otalMarks: 50
Group - A

IAnswer any two rlucstions of the following sets]
l. a) [)ctorrrrirrc the node voltagcs in the circuit shown in lrig. I
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tr) tJsc Irig. 2 to deternrine uresh currents

Fig.2
c) Point out u,hcn Supernode happens in Nodal Analysis.

?.. a) [3y using superposition theorcrn exarninc the current through itl shown in figure 3.
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Fig: 3

b) Irrorr the {bllowing data exanrine thc currcnt I through resistor I{a in Iig 4 by using
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Reciprocity theorem. Where, E = 45V , Rt =12{1, R, = 6Q, R-, =2Q ,R.r = 4f) .
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3. il) ['oint out the diff'erences between Thevenin's Theoretn and Norton's Tlteorenr.

tr) Using'l'heveuir.r's theorem, determine the equivalent circuit to the left of the a-b terrninal

in Fig. 5 and lteuce deterntine l.
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Fig. 5

lixplain Maxitrturrt Power'l'ransfer Theot'etn

equivirlent circuit has R11, : 9Q and Yn : 22Y,
result iu Maxirnum Power getting transferred to
powcr.

Group - B

[Answer any three questions of the
4. a) Design Thevenin equivalent circuit for the network

in your own words. If a Tltevenin's
Determine the load resistance that will
the load. Also detennine the lnaximum

following setsl

in the shaded area in Fig. 6.
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b) For the network of fig z ]*u.nir. ,h" tll'5;1, o, for maximum power to

evaluate the maximum power. Given I =6A,
Et = 68V,.R, = 3f), R2 =10C1..R. = ?{2 -
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5. a)

b)
c)

Fig:7

L.xplairr thc ccluivalent Ohur's law of Magrretic Cirouit.
L,xplain I-lystcrcsis curve with proper figure.
l"or the electronragnct of Fig. B, Determinc tlre currerrt I requilcd to establish the indicated
llrrr in lllc c()r'c.
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Fig. 8

Poiut or.rt why First order circuits are ltarxed so.

[)crivc cxplcssiott lirr voltagc ola Sottrcc Irrcc Rl, cilcuit.
'l'he switch irr l-ig. 9 has becn in position A for a long tirle. At t : 0 tlre switch Inoves to

positiorr B. Detenninc v(t) for t>0 and calculate its value for t: ls and t: 4s.
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Show that thc energy store in an lnductor is
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6. a)

b)
c)
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A,-'- 50 turns

1. a)

Slreet steel

74V

r=o 1.
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b) Determine the curreut through a200-pF capacitor whose voltage is shown in F'ig'
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o) Consicler the circr.rit in Fig. 10 ancl ,rd}*J.'",rnditions, examine:

(a) l. r',. attd l,.
(b) the energy stored in the capacitor and inductor'
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Appendix

ll.

la,

il

i (l

r)li

il(,

rr I

i) '

*J. "---.* /1{Alrnr)
'15009tl0 l2(x)

E r'T)

1_4

1,:

1.n

'49

t3

at.-

'3.6

.-l :'

,:+

f.l


